
®

     

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016  
 

www.cobrausa.com  

03/10
  ®

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
*Cobra® recommends you always wear a helmet while ridin g. Please never operate your motorcycle while under  

 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – Left Saddlebag Support 

1 – Right Saddlebag Support  

4 – M10 x 40 mm SS Buttonhead Bolts 

 
 

Application(s) > 

HONDA SPIRIT 750 C2   07-09, 12-14 

HONDA PHANTOM 750   2010-2019 

 

Instruction Manual > 

Read all instructions carefully and completely before installing your new saddlebag supports. 

1. Remove your stock fender rail bolts. 

2. Install your Cobra saddlebag supports using the supplied M10 bolts.  The saddlebags should hang towards the 

rear and away from the motorcycle.       

3. Torque bolts to factory specifications. 

To clean your black accessory use a liquid based soap detergent, such as dishwashing soap applied with a 
soft cloth and rinse with clean water.  Note: Avoid abrasive cleaning methods such as granular or dry 

cleansers, simple green, Scotch-Brite or steel wool pads.  Abrasives may breach the coating and shorten life. 

 02-6111B 

DOCUMENT NO.  0019 REV. A 



®

     

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016  
 

www.cobrausa.com  

03/10
  ®

 

 

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under  

 the influence of alcohol and/or drugs. Enjoy the new look of you r motorcycle and please ride safely.  

Items Supplied > 

1 – Left Saddlebag Support 

1 – Right Saddlebag Support  

4 – M10 x 40 mm SS Buttonhead Bolts 

Application(s) > 

HONDA SPIRIT 750 C2   07-09, 12-14 

HONDA PHANTOM 750   2010-2019 

 

Instruction Manual > 

Read all instructions carefully and completely before installing your new saddlebag supports. 

1. Remove your stock fender rail bolts. 

2. Install your Cobra saddlebag supports using the supplied M10 bolts.  The saddlebags should hang towards the 

rear and away from the motorcycle. 

3. Torque bolts to factory specifications. 

To clean your black accessory use a liquid based soap detergent, such as dishwashing soap applied with a 

soft cloth and rinse with clean water.  Note: Avoid abrasive cleaning methods such as granular or dry 

cleansers, simple green, Scotch-Brite or steel wool pads.  Abrasives may breach the coating and shorten life. 

 02-6111B 

DOCUMENT NO.  0019 REV. A 


